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Note: (i) All questions are compulsory.

(ii) This question paper is divided in two parts (Part-1, Part-2). The marks of

each question are mentioned at the end of the question.

(iii) The parts of same questions must be answered together.

AT —1/Part -1

(Si@T%/Accounting)
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(a) State the uses of Accounting as an Information System.

(b) Explain the scope and objectives of Accounting.
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(a) Distinguish between ‘Fixed Capital Account’ and ‘Fluctuating Capital Account’
in a partnership firm.

(b)

Bharat and Bhushan are partners in a retail business. Balances in Capital and
Current Accounts as on 31% March 2021, were :

Capital Account Current Account
Bharat T 2,00,000 T 50,000

Bhushan T 2,40,000 < 10,000 (Debit Bal.)

The firm earned an average profit of ¥ 90,000. If the normal rate of return is
10%, find out the value of goodwill.
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Application for 65,000 shares were received from Public by ‘X’ Co.. Allotment of
shares made as follows (Authorised shares 1,00,000 @ ¥ 10) :

(a) 100% shares to applicants of 40,000 shares
(b) 50% shares to applicants of 20,000 shares

(¢) No allotment to applicants of 5,000 shares

A shareholder to whom 500 shares were allotted under category (a), paid full amount
on shares alongwith allotment money.

Another shareholder under category (a), holding 1000 shares failed to pay the amount

due on call. His shares were forfeited and 800 of these shares were re-issued as fully
paid up @ X 8 per share. |

Face value of shares are ¥ 10,
Calls were made as follows :
On Application : ¥ 3

On Allotment : ¥ 4 (With premium)
OnCalls: %4

Give the Journal Entries and prepare Balance Sheet.
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(a) Distinguish between ‘Income & Expenditure Account’ and ‘Receipts &

Payments Account’.

(b) From the following information relating to a company, calculate the value of its

equity shares :

(i) Issued equity share capital : 10,000 shares of T 10 each.

(ii) Paid-up equity share capital : T 8 per share

(iii) 6% preference share capital : 1,00,000 shares of 10 each fully paid.

(iv) Annual transfers to general reserve : 20%

(v) Rate of tax : 50%

(vi) Expected profits before tax : ¥ 2,00,000

(vii) Normal rate of return : 20%
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Attempt any two of the following questions :

(a) What are the objectives of Auditing ?

(b) Distinguish between documents and vouchers.
(c) What do you understand by Internal Check ?

(d) Discuss the concept of Audit Programme.
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Attempt any two questions from the following :

(a) Discuss the steps involved in formation and incorporation of a company.

(b) What do you mean by Joint Stock Company 2 Also discuss the characteristics
and types of Joint Stock Company.

(c) What do you mean by following :
(i) Management by objectives
(ii)) Management of change

(iiiy Management by exception
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Answer any two questions from the following :
(a)
(b)
(c)

Explain the comparative cost theory of Foreign Trade.
Discuss the role of EXIM bank in foreign trade promotion for India.

Explain the important export promotion techniques and incentives initiated by
Government of India.
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Answer any two questions from the following :

(a) “Management involves co-ordination and integration of all resources, to accord

specific results.” Explain this statement.
(b) Discuss the essential qualifications for appointment as a Company Secretary.

(c) Whatdo you understand by the term Office Automation and Computerization ?
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Answer any two questions from the following :

(a) Why is Insurance Business being privatized in India ? Give the arguments for

and against their privatization.

(b) “The greater the number of decisions at lower level, the greater is

decentralization.” Comment.

(c) “Planning without control is meaningless and control without planning is a
waste.” Discuss this statement.
fraferfiga 3 & foredi Q et & s s -
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Answer any two questions from the following :

(a) “The Doctrine of Ultra Vires is an illusory protection to the shareholders.”

Explain.
(b) WhatisJob Specification and Job Evaluation ?

(c) Doctrine of Indoor Management is an exception to the rule of ‘Constructive

Notice. Elaborate.
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